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Unit 7 - Week 6

Course outline

| Assignment 6

course work? The due date for submitting this assignment has passed. Due on 2{]2[]-{]5-[}1! 23:590 |IST.
As per our records you have not submitted this assignment.

Week 1
1) Which of the following is not a default log level in logdj? 1 point
Week 2 Error
Week 3 Critical
Info
Week 4 Warn
Mo, the answer is incorrect.
Week 5 Score: 0
Accepted Answers:
Week 6 Critical
WeekB_Session1 2) Which Apache log file do you expect to see the following message: client denied by server configuration 1 point
WeekE Session?
Install log
® Introduction to JDBC Access log
® Modern Application Error log
Development : Week & Mo, the answer is incorrect.
Feedback Form Score: 0

Quiz : Assignment 6 ACCRpIRG Anmian:

Error log
Week 7
3) Which component of logdj is used to publish the logging info to the destination like the file, database, console etc? 1 point
Week 8 Logger
Publisher
Week 9
Layout
Week 10 Appender
Mo, the answer is incorrect.
Week 11 acore: 0
Accepted Answers:
Week 12 Appender
Download videos 4) If logger config level is set to warn, which of the following event levels will not be logged? 1 point
Text Transcripts I.info  ii. warn iii. error
Only info
Only error

Both info and warn

Both warn and error

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
COnly info

5) Which of the following is a fatal error message? 1 point

Child process 123 did not exit. Sending another SIGHUR.
server busy. Waiting for access
Ran out of memory. Exiting

RHequested database not found

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Ran out of memory. Exiting

6) Consider the following logtest.java file and the logdj2.xmil file. 1 point

import org.apache.logging. logdj.*;

public class logtest{
public static weoid nain(S‘tIinEU args) {
Logger loggerl = LogManager.getLogger("loggerl™);

Logger logger2? = LogManager.getLogger("loggeri2”);

Logger loggerd = LogManager.getLogger("loggeri®”);
loggerl.fatal("fatall");
loggerl.error("errorl”);
loggerl.warn ("warnl™);
12 loggerl. info("infol");
loggerl.debug("debugl®);

loggerl.trace("tracel®™);

logger2.fatal("fatall");
logger2. error("errorl”);
logger2. warn (“warnl™);
1 logger2. info ("infol™);
2 logger2.debug("debugl");
11 logger2. trace("tracel");
12 Configurator.setlevel(logger?.getName(), Lewvel.TRACE);
23 logger2.fatal("fatal2");
24 logger2. error("error2");
af logger2. warn ("warn2");
a logger2. info ("info2");
a5 logger2.debug("debug2” ) ;
24 logger2. trace("trace2");

logger3d.fatal("fatall");
logger3. error("errorl”);
12 logger3. warn ("warnl™);
logger3. info ("infol™);
logger3.debug("debugl™);

logger3. trace("tracel");

Listing 1: logtest.java

<7ml version="1.0" encoding="UTF-B"7>
: <Configuration status="WARN">
<Appenders>»
<Console name="Console” target="SYSTEM_OUT">

<PatternlLayout pattern="}-5level {logger{36} - Vmsgin"/>
</Console>
<File name="Logl" fileName="logs/logl.log">
<PatternLayout pattern="}-5level - Ymsgin®/>
</File>
<File name="Log2" fileName="logs/log2.log">
11 <PatternlLayout pattern="}-5lewvel - {msgin"/>
12 < /Fila>
<File name="Log3" fileName="logs/log3.log">
<PatternlLayout pattern="}-5lewvel - {msgin"/>
</File>
</Appenders>

<Loggers?>
<Logger name="loggerl" level="error" additivity="false"»
2 <AppenderRef ref="Console" level="warn"/>
11 <AppenderRef ref="Logl® lewvel="fatal"/>
12 </Logger>
33 <Logger name="logger2?" level="info" additivity="falsa">
24 <AppenderHef ref="Console" level="info"/>
af <AppenderRef ref="Logl" lewvel="trace"/>
a </Logger>
a7 <Logger name="loggerd" additiwvity="falsza">
iE <AppenderHef ref="Console" level="error"/>
24) <AppenderRef ref="Logl" lewvel="warn"/>
<AppenderRef ref="Logd" lewvel="info"/ >
</Logger>
12 <Root lewvel="warn" additivity="false">
<AppenderRef ref="Console"/>
<AppenderRef ref="Logi"/ >
</Root>
</Loggers>

<fConfiguration>

Listing 2: logdj2.xanl
What will be the output in the log file log1.log?

i FATAL - fatalil
i FATAL - fatalil 1 FATAL - fatalil
i FATAL - fatali a ERRDR - errorl
1 FATAL - fatalil 2 ERRDR - errorl
a FATAL - fatali } FATAL - fatalil
{ﬁJ _ o " {h] } ERROR - errorl {{] ! FATAL - fatalil {{” EREAE "
' SrEeE 1 WARN - warni i ERROR - errorl ' SrEeE
WARN - warnil f WARN - warnil
; INFO - infol ; WARN - warni
INFO - infel
(a)
(b)
(c)
(d)
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
{al
7] Considering the same logtest.java and logd|2.xml files as in problem &, what will be the output in the log file log2.log? 1 point
i FATAL - fatali
FATAL - fatali 2 ERROR - erroril
i FATAL - fatalil 2 ERROR - erroril } WARN - warnl
i FATAL - fatalil 2 ERROR - errorl ! WARN - warni 1 INFO - infol
:  ERRDR - errorl i WARN - warnl 1 INFO - infol v DEBUG - debugl
K WARN - warnl E INFO - infol R FATAL - fatalZ _ TRACE - tracel
(), 1NPO - infor (D). FPATAL - fatal2 (€). ERROR - errorz (d): FATAL - fata12
DEBUG - debugl ERROR - errori © WARN - warn2 s+ ERRDR - error2
TRACE - tracel ; WARN - warnZ 5 INFO - info2 I WARN - warnZ
INFOD - info?2 } DEBUG - debug2 i INFO - infe?2
TRACE - trace?2 11 DEBUG - debug2
14 TRACE - trace?
(a)
(b)
(c)
(d)
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
fc}
8) Considering the same logtest.java and logd|2.xml files as in problem &, what will be the output in the log file log3.log? 1 point
i FATAL - fatalil
i FATAL - fatalil a ERRDR - errorl
i FATAL - fatalil
_ FATAL - fatali B e ; 2 ERRDR - errorl E WARN - warnil
{F‘-J a ERROR - erroril {I}]_ e EHE;I {{] } WARN - warni {{” i INFO - infel
' i INFO - infol . DEBUG - debugl

TRACE - tracel

(a)
(o)
(c)
(d)

Mo, the answer is incorrect.
score: 0

Accepted Answers:

(b)

9) Considering the same logtest.java and logd[2.xml files as in problem &, what will be the output in the console? 1 point

FATAL loggerl - fatall
: ERRDR loggerl - errorl

FATAL logger2 - fatall
ERRDR logger2? - errorl

| FATAL loggerl - fatall
: ERROR loggerl - errorl
FATAL logger2 - fatall
ERROR logger2? - errorl
WARN logger? - warnl
INFDO logger2? - infol
(8) : PFATAL logger? - fatal2
ERROR logger? - errorl
WARN logger2? - warn2
INFO logger2? - info2
FATAL logger3d - fatall
12 ERROR logger3 - errorl

WARN logger2? - warnl
INFO logger2 - infol
{h:l - FATAL loggerZ - fatalZ
ERROR loggerZ - errori
WARN logger? - warn2
INFO logger2 - infol
FATAL logger3 - fatall
12 ERRODR loggerd - errorl
WARN loggerd - warnl

FATAL loggerl - fatall

FATAL loggerl - fatall
: ERROR loggerl - errorl

: ERROR loggerl - errorl
WARN loggerl - warnl

FATAL logger2? - fatall
ERROR logger? - errorl
WARN logger2? - warnl
INFO logger2 - infol
FATAL logger? - fatalZ
ERROR logger? - errorZ
WARN logger2? - warn
11 INFO logger2 - infol2
12 FATAL logger3 - fatall
ERROR logger3 - errorl
WARN logger3d - warnl

WARN loggerl - warnl
FATAL logger2 - fatall
ERROR logger2 - errorl
WARN logger2 - warnl
{f,] - INFD logger2 - infol {{” ;
FATAL logger? - fatalZl
ERROR logger? - errorl
WARN logger2 - warnl
11 INFO logger2 - info2
12 FATAL logger3 - fatall
ERROR loggerd - errorl

(a)
(o)
(c)
(d)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
(a)

10) MySQL is a 1 point

Spreadsheet program
Relational Database Management System
Advance Text Manager

Mone of the above

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Relational Database Management System

11) Which command will you use to show all the rows and the columns of a MyS0L table abc? 1 point

SHOWALL ENTRIES FROM abc
SHOW * FROM abc

SELECT ALL_ENTRIES OF abc
SELECT * FROM abc

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
SELECT * FROM abc

12) Which of the following is NOT true about JDBC? 1 point

JDBC stands for Java DataBase Connectivity.
It is used to access relational databases without embedding a dependency on a specific database type in your code.
JDBC is a Java owned database management system.

Mone of the above.

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
JDBC is a Java owned dalabase management system.



